Problem 8FE-2

In the circuit in Figure 8PFE-2, select the value of the transformer’s turns ratio n = N2/N1 to achieve impedance matching or maximum power transfer.  Using this value of n calculate the power absorbed by the 3-Ohm resistor.
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Suggested Solution

The reflected impedance is  Z = ZL/n2
The value of n that will make the reflected impedance the complex conjugate of the impedance in the primary is:

n = ¼   i.e. (1/4)2 (48 + j32) = (3 – j2)*   and P3( = (1/2)(120/96)2(48) = 37.5W

_1052585904.bin

